N = 0l & AF & F Al A

20128 = 20lAa LBSIAH L JIEISEESH SUs ~ U=
2N BUS
M SAS AFE EH|
Sl FOIMXIME HA2Y 2 BoAL X2 oL
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
ER=] 263,542 255,572 7,970
SAS ArE Z | 188,340 188,380 A40
FOXNXHE WASE L BHAE X3 123,950 123,990 A40
FOUXXIEE 29 74,900 74,900 0
201 Bt AH| 74,900 74,900 0
01 AtR22t2|dl 74,900 74,900 0
OFXXNEHEHSH 74,900,000 74,900
FOIHOIAA K& 49,050 49,090 A40
201 2et2 A | 16,550 30,490 A 13,940
02 S324H| 14,050 13,990 60
OFANROHHIAABSA 200,000& x12& 2,400
(OPNE= 8= K== TR =N s 4,000,000& 4,000
OFE AR X 5,000,000& 5,000
OLEF+HE 500,000& 500
(@EE=1a="R-104] 50,000& 50
O&EIINEE 1,000,000& 1,000
OAEE BHMEEE=2 500,000& 500
odlgArE s 600, 000& 600
03 SHAI2HHI 2,500 16,500 A 14,000
O8l&==0IsHZ I 2,500,000& 2,500
203 PR =2&ld| 2,200 2,200 0
03 Al F=RIHRFAIH| 2,200 2,200 0
OSHIZRAIHE=X 2,200,000 2,200
301 LEtB A= 2,800 2,800 0
09 SUZRLIABAMZ 2,800 2,800 0
O32UZ223 4| 5,000& »2H 280 2,800
401 A& HI L 21| 23,000 5,000 18,000
01 Al&H| 23,000 5,000 18,000
O=xdlIlchAld= 7,000,000& 7,000
O XIE Ay|(gsd, Seols)
3,000, 000& 3,000
O==0olltHH| OIS = A X (4HA)
13,000, 000& 13,000
405 KH&HFE S HI 4,500 8,600 A4,100
01 MY Z2FSFH SHI 4,500 8,600 4,100
Otols SAH ¢ 4,500,000& 4,500
ScltEEsEs 64,390 64,390 0
ScleEEsEANA 64,390 64,390 0
301 dEt8EAZ 64,390 64,390 0




SN BYS
M SAs AL EHI
el SNBSS (e a2
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
05 & -2l -tEasgaa 64,390 64,390 0
(@F=FSE=y 200,000& x18H »12& 43,200
OS2 200,000& 18 x23] 7,200
OS&3 &L 20,000& 18 x23| «12& 8,640
Obtt& e EH| 50,000& *107H x13] 5,350
HMSHAH(ZELS) 75,202 67,192 8,010
QlESAH(ELS) 21,242 20,732 510
NFOAH(BYS) 21,242 20,732 510
101 @1 21| 21,242 20,732 510
03 RIHAZZNES 21,242 20,732 510
O A2 gdsoR 21,242
23 772,200& x 18 =12 9,267
a2 9,266,400& *1/3 3,089
=Jhat= 9,266,400& x10% 927
-AlZ2te 2R 6,5703 x1H 22 A| 2tx12& 1,735
-5 2RE 52,6503 x1H x2 x 123 1,264
=54 35, 1003 x1H 52 1,826
PN ESE=E= Pl B 35, 100& x1H =15 527
- HF A 80,000 x1H x12& 960
- EEXH| 60,000& x1H x12& 720
===l 772,200& x60%*23] 927
lledtl(sds) 53,960 46,460 7,500
ll2dgl(zds) 53,960 46,460 7,500
201 2et2F | 26,680 19,180 7,500
01 At 22l bl 10,480 10,480 0
ORNSY ARl 10,480,000 10,480
02 =22l 16,200 8,700 7,500
(OXSPIb = 11,000, 000& 11,000
O&aot=E23 1,200,000& 1,200
SERS 4,000,000 4,000
202 O 4l 17,360 17,360 0
01 2LHO HI 17,360 17,360 0
oA=& 0| 2,000,000& 2,000
OJlege+=8ud(8Y) 15,360,000& 15,360
203 PR =&l 9,920 9,920 0
01 J|22FHRFAY| 6,600 6,600 0
OJ|A#2HHRFEH| 6,600,000 6,600
02 HRAJMAE =X 320 320 0
O JAINNE R =R 320,000& 320
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